DIN #rAEREsL
EW-M-ED 454 &k — AHIENEDR &3
L1
o ] ol
sl F =

1

X1)
X2)
X1) OBLME
X2) EDE
D1 TAEE 7 (bar)
=
73 | ] T D3 (D4 | D5 | L1 | L2 | L3 | L4 | L5 |S1|S2|S3 | =/t iTHRS* CF 71
L 06 | M 10x1 4 4 14 19 [12.0(34.5 8 27 12 14 14 47 EWO06LMEDOMD | 500 315
08 | M12x1.5 6 6 17 21 |14.0|37.5| 12 29 12 17 17 69 EWO0SLMEDOMD | 500 315
10 | M 14x1.5 8 7 19 22 |15.0140.0| 12 30 14 19 19 87 EW10LMEDOMD | 500 315
12 [M16x1.5| 10 9 22 24 |17.0142.0| 12 32 17 22 22 111 EW12LMEDOMD | 400 315
15 [M18x1.5| 12 1 24 28 |121.0|46.0| 12 36 19 27 24 179 EW15LMEDOMD | 400 315
18 [M22x1.5| 15 14 27 31 |123.5|50.0| 14 40 24 32 27 272 EW18LMEDOMD | 400 315
22 |M26x1.5| 19 18 32 35 |27.5|55.0| 16 44 27 36 32 360 EW22LMEDOMD | 250 160
28 | M 33x2 24 23 | 40 38 |30.5|59.0| 18 47 36 41 41 538 EW28LMEDOMD | 250 160
35 | M42x2 30 30 50 45 [34.5(68.5| 20 56 41 50 50 843 EW35LMEDOMD | 250 160
42 | M48x2 36 36 55 51 |140.0|75.0| 22 63 50 60 55 1353 EW42LMEDOMD | 250 160
S 06 | M12x1.5 4 4 17 23 |116.0|40.0| 12 31 12 17 17 77 EW06SMEDOMD | 800 630
08 | M14x1.5 5 5 19 24 |17.0|425| 12 32 14 19 19 107 EW08SMEDOMD | 800 630
10 | M 16x1.5 6 7 22 25 |17.5145.0| 12 34 17 22 22 146 EW10SMEDOMD | 800 630
12 | M 18x1.5 8 8 24 29 |121.5|48.0| 12 38 17 24 24 178 EW12SMEDOMD | 630 630
14 | M 20x1.5 9 10 26 30 |22.0|54.0| 14 40 19 27 27 203 EW14SMEDOMD | 630 630
16 [M22x1.5| 12 12 27 33 |24.5|55.0| 14 43 24 30 27 307 EW16SMEDOMD | 630 400
20 | M 27x2 16 16 32 37 |126.5|65.0| 16 48 27 36 32 459 EW20SMEDOMD | 420 400
25 | M 33x2 20 20 | 40 42 (30.0(73.0( 18 54 36 46 41 812 EW25SMEDOMD | 420 400
30 | M42x2 25 25 50 49 [355(78.5| 20 62 41 50 50 1167 EW30SMEDOMD | 420 400
38 | M 48x2 32 32 55 57 141.0|89.0| 22 72 50 60 55 1790 EW38SMEDOMD | 420 315
*AEBBRFE, ERESRTEAEHMEESSEDER.
RS ER
e FEAbIE A5l FREEER
Bt .
. BREN,
%ﬁﬁg’g FA s CF EW16SMEDOMDCF  |NBR
wREmEE | TP 71 EW16SMEDOMD71 VIT

FE@FEA 4100/CH



